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Translation in English
Sub: Economics of Development (Part-11) (EC-403)

Instructions:  Attempt all questions.

Q.1

M 0w D oE

B w N P oW

Answer in detail (Any Two) (40)

Explain Nurkes’s theory of disguised unemployment as a saving potential
Critically appraise the strategy of unbalanced growth

Explain the role of state and private capitalists with respect to Lewis’s theory
Discuss Rostow’s theory with respect to developing countries

Answer in brief (Any Three) (30)

Explain the difference between labour-intensive technology and capital-
intensive technology

Explain the classification of work of government in the development process
of an economy

Explain the Big push theory

Explain the Foreign aid and role of India
Explain the Public health and family planning

Write short notes. (Any Two) (30)
Backward linkage

Technology

Social overhead capital

Capitalist surplus
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